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Section—-A (Marks : 172 x 10 = 15)
Note .— Answer all fen questions (Answer limit 50 words). Each question carries

M —

Note —

Note —

e —

1% marks.

(Tus-3) (3® : 1'% x 10 = 15)
i | YAl % SR SIS (SW-E 50 ) | T 99 1% 3 1 T
Section-B (Marks : 4 x 5 = 20)

Answer all five questions. Each question has internal choice (Answer limit
200 words). Each question carries 4 marks.

(Tus-9) (3® : 4 x 5 =20)
Tt uTe 99l & SR SIfST | 9% 99§ fomed o1 =g ifsy (SWR-dE 200
) | TAF WY 4 3F H T

Section—C (Marks : 10 x 3 = 30)

Answer any three questions out of five (Answer limit 500 words). Each
question carries 10 marks.

(Tue-|) (3® : 10 x 3 = 30)

o= | 9§ fr=l @9 gvH & SWw ST (SW-HH 500 Is2) | YAE 9T 10 376
Ealkd
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Section-A
(TUs-3)
I. @ Why do we need Information ?
T YA HI AEvIHT T T ?
(ii)) What is Schema ?

THA F T ?

(iii) What is Entity ?
e P ¥ ?

(iv)  Write names of any four attributes.
=l aR erem & M fafem)

(v)  What do you mean by Expression ?

TFIYYH 9§ ST 1 el ® 2

(vi)  What do you mean by Relationship Set ?
feomfig I 9 ouswt = qd T 2

(vi)) Write Basic Data Types available in SQL.
SQL # 3vctsy sfdes e 2y fafau |

(viii) What do you mean by Nested Queries ?

TRE FO W IR M aad T 2
(ix) What is Transaction ?
TR O ?
(x)  What are Locks ?
oA T B § 7
Section-B
(Tus-)
2. Compare Database Management System with File Conventional System.

TeEd HAsHe foen #t o WERE wEa faed ¥ s
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Or
(3teram)

Write the responsibilities of Database Administrator.

SIEH HTETF & gl i fafe )
3. Discuss the properties of specialization.
BT @ O W = R
Or
(g
Why do we need aggregation ?
TYE *1 TEvasdar =i e ¥ 2
4. How do we join a database table to itself ? Give example.
TF @9 29d H SHt ¥ fRE YER join HLT ? IO ST
Or
(g
How parameters are passed in forms ?
wd H W &8 9w R S § 2
5. Differentiate between DDL, DML and DCL.
DDL, DML den DCL & &= 1<) adsq |
Or
(Irgam)

Explain any four DML commands with example.

7l s DML #HvSH &l 380 Hied HET |

6. Explain time stamp based concurrency control.

I W STHIA Hhadl Thaldl ohi SRS HIfTT |
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Or
(g

What are the various recovery techniques of DBMS ?
Seuaea wt fafu= quif qedie #on € 2

Section—-C

(Tue-9)

7.  What are 12 Codds Rules ?

12 wfe from @ § 2

8.  How is ER model mapped to Relational model ? Explain.

ER #ied & FowHa died # &9 89 fH sar € 7 99

9. Explain the steps for creating master details form for a table.

fordt 2o & fou AR feed wid IR & TR0 &1 ARl it |

10. Explain union, intersect and except with example.
Union, intersect T except sl TRV Higd FHSAST |

11. What do you mean by Serializability ? Explain its types.

Serializability ¥ 3791 &1 c9d € ? TH% YHR ST |
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